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Instructions : Attempt all questions.

(i) T afe TavEs g, o fosll srgan Wit &1 gHew Hifeg)
Use diagrams or flow-charts if necessary.

(fif) WO SHHEIF 23 W 26 TF F W A st fawed Ry ¥

In Question Nos. 23 to 26, internal options are given.

e : () FHE HHIF 1 W 5 % Afergsaia 9 § | T Y9 W 1 3% ayEfeq
R (W A Afywpeow v=g-¥0 1 1 /1 91)

Instruction : (A) Question Nos. 1 to 5§ are very short answer type questions. Each

question carries 1 mark. (Maximum word-limit is 1 word/ 1 sentence)

WA-1  ZIFT 1 T 9 9450 [1]
Give full name of ZIFT.
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[2]
wH-2 IS (TP geaen w e | faw fefm sl sm s o # 2 (1

Which vitamin is found in more quantity in transgenic golden rice?

w¥-3  Nif 9 ffa geria SR wR €2 [1]

In which microorganism Nif gene is found ?

W-4 U WY Huen ¥ waifyw den feae g € 2 [1]
What are found in maximum numbers in a food chain ?

w5 TRferfat frs dta = weR Ty €2 [1]

Inter-relationships between which components are ecosystem ?

frdor : (F) T FA® 6 ¥ 10 7% ARETYSTG T § | &% W R 2 37 A&fed
¥ (SW AN fumay w=e-did 30 =8 ¥)

Instruction : (B) Question Nos. 6 to 10 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of answer is

30 words)
-6 @-TEaFd? 2]
What is Self-sterility ?
Wr-7 A WrEw O ey J S 9 oim fafaw [1+1=2]

Write any two differences between Genotype and Phenotype.

Wr-8 oo da R wea €2 2]

What is Reciprocal Cross ?
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w-10

Fréer

[3]
Iq gerEE ¥ am fafag Pl ety aa @R we fem
ST ¥ [1+1=2]
Name the microorganisms from which Cyclosporin and Statin are

obtained.
e fad wed ¥ ? [2]
What is Plasmid ?

: (|) W waEH 11 Q 22 9% orgewly we ¥ 1 AW w1t 3 s arifen
#1 (Sm N sfuwen wez-dm so vz §)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each

u-11

qoq-12

w¥T-13

W-14

question carries 3 marks. (Maximum word-limit of amswer is

50 words)

ada =% w=n ¥ ? anda 9% 1 PR fn-a e R ¥ 2 [2+1=3]
What is menstrual cycle ? Which hormones regulate menstrual cycle?

T & U TR FE HT Fae AifRa o I [1V5+1Ym3]
Draw a well-labelled diagram of the TS of lnman testis.

213 fodm 7 & 2 v Ragmt & wwor fafens (1 134=3]
What is Down Syndrome ? Write its symptoms.

o U SR Tl w1 e oy g & i 8, o 3 dendl F ool

=} Sawrfe 2 @i gR TR [EY4+1%4=3]
{Vhenamnnaifma}eismmicdwﬁhambfmdmﬂe,m

work out cofour blindness in the progeny of these parents with the

help of diagram. |
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WH-15

W -16

we-17

UF-18

U -19

wF-20

we-21

We-22

4]
i sifvreafaa = ® 2 Shemsil § sie sfveafam = @ fafiml fafag [142=3]

What is gene expression ? Write two methods of gene expression in

bacteria.

Siwfy = 7§ 2 39 FE @ SR fafau) [142=3]

What is drug addiction ? Write its any two reasons.

HOAT Sifeerdl & EsE 9 a3 Afies IoT o R ¥ b ? [3]
Higher organisms have resorted to sexual reproduction in spite of

their compiexity. Why ?

S Ff R FEA § 2 (3]

What is cailed gene cloning ?

AR wgH w1 Uil )y fafan) [4x6=3]

Write the effect of air pollution on plants.

eIt IeareEal U et Searesrer & R 9 of farfan [1+1+1=3]
Write any three differences between primary productivity and

secondary productivity.

Sto-fafaym & 8 9 o s [1x3=3]

Give any three benefits of Biodiversity.

&AM & witfeafass @ & Sfaw SR #1 diig aui Hifg) [3]

Explain in brief the biotic factors of Grass-land Ecosystem.
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[5]
Fr : (X) v FH% 23 Sl we ¥ ) W W W 4 oiF srefea €)1 (W
rfysray w=2-dm 75 e &)

Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

W¥T-23  ER foreh e st e S Q) €LY, TRl @) AR o fee O
HHE Tt 1 Fmto faman, wfas =mem #ifsw) [2+2=4]
How does Eli Lilly American Company produce human insulin by

preparing two DNA sequences? Explain with diagram.

3rerar
OR

iR fEen sfufra F fafu=t v o wfes =men #ifwg)

Explain various steps of polymerase chain reaction with diagram.

A () R HE 24 @ 26 7% Sewl W ¥ W W RS St e
¥\ (S *t sifymaw - 750 wg &)

Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of answer is /50 words)

W-24 I W fFE F AT Aiea F wea o ufam v Wit [2%442%4=5)
Describe Watson and Crick model of DNA with diagram.

arerar

OR

S, F o it sreferatt fafy o wfen 9ol Rifv)

Describe semi-conservative method of DNA replication with diagram.
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[6]
WyH-25 TN SR o W1 AR v s fw e o oy w fafan . [2+3=5)

(37) TR P
(7) fafen wifeand

() Ik aES
Draw a labelled sketch of male reproductive system and write one

main function of the following parts :
(a) Sertoli cells
(b) Leydigcells

(¢) Vas deferens

OR
S 9T w1 AR s e R ol T e
fafew :
(37 g aifet
(7) weerdl (W)

(9) RvSEH
Draw a labelled sketch of female reproductive system and write one

main function of the following parts :
(@) Oviduct
(by Fimbriae

(¢) Ovary

NM-41 A



[7]
wyi-26 ffafea I w1 dawm A g ¥ ? [1x5=5]
(37) TFFPES
(%) wRAfAfad
(9) TR
() wafan

(%) =g

How are the following diseases transmitted?
(a) Typhoid
(b)- Filariasis
(¢) Ringworm
(d) Malaria
(e) Pneumonia
arerar

OR

AF faar | feul =i Gl 91 g1 & Ga & fau = e s
IR TR A ¥ ? [2%4+2%4=5]
In your view what motivates young stars to take alcohol or drugs and

how can this be avoided?
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